
MODEL:BM3&BM4

From Italy Snail Power

380.00 mm

1
2

9
.9

6
 m

m



01

SNAIL POWER

3. if the product appear for the causes of failure, the user can use the warranty card and purchase certificate 

BM3&BM4



02 03

    igh quality Matte finish (fingerprint proof);H

    . -inch high performance speaker + one passive 2 25

    bass vibration films;

    mall volume, ully sealed body, S F

    astonished music enjoyment;         

    ll materials meet ROHS requirement;A

    Background music scene, such as home kitchen, 

    study, business center, etc

2：Technical parameters

BM3&BM4

1： roduct featuresP

BM3 BM4

BM3 BM4

BM3&BM4

Drive Units:                          1X2.25" Driver

requency :        65Hz-20KHz(In wall)F Response

ower Iutput:                        ~ 50WP 10

:                        85dB/W/mSensitivity

vg. Max Output @1m        A : 101dB

nput Impedance:                 8ΩI

nputs:                                  BindingpostI

imensions:                         Φ100x62mmD

et weight:                          0.4Kg (Single)N

    igh quality Matte finish (fingerprint proof);H

    . -inch high performance speaker + two passive 2 75

    bass vibration films;

    mall volume, ully sealed body, S F

    astonished music enjoyment;         

    ll materials meet ROHS requirement;A

    Background music scene, such as home kitchen, 

    study, business center, etc

Drive Units:                          1X2.75" Driver

requency :        45Hz-20KHz(In wall)F Response

ower Iutput:                        ~ 60WP 10

:                        88dB/W/mSensitivity

vg. Max Output @1m        A : 106dB

nput Impedance:                 8ΩI

nputs:                                  BindingpostI

imensions:                         Φ125x103mmD

et weight:                          0.83Kg (Single)N

3：Product Accessories

Note :BM3 and BM4 are standard accessories in the same shape but different sizes

1:将定位纸卡背面双面胶剥离纸撕除;

2:把定位纸卡贴合在安装区域;

3:用手锯沿定位纸卡外缘将安装区域切除;

  或用开孔器将安装区域切除.

切割前检查墙壁上的障碍物！

A:Iron mesh or guided 

   wave panel  x 1PCS

B:Screw x 2PCS

C:  x 1PCSIron piece hook D:Position paper

    card x 1PCS



04 05

BM3&BM4 BM3&BM4

4： M3 Finished dimension drawingB 5： M4 Finished dimension drawingB

Φ112

1
0

2
.

7

9
9
.

7
5
-

3
7

Φ
1

4
0

Φ
1

2
5

背面

6
2

1
2

5
9

Φ86
Φ

100

背面

speaker installation hole size Φ86mm.
speaker installation hole size Φ112mm.



06 07

BM3&BM4 BM3&BM4

1

2

3

4

5

6

1

2

5 4

3

3

3

2

3

4

6
2

3

Loaded speaker into ceiling hole,held by hand and then
 fixed to ceiling with a screwdriver or electric screw driver.
***Pay attention to lock in place, make sure it's not loose.

Last step put the iron mesh or guide wave panel into 
speaker slot. Ensure the assembly is in place and there is 
no loose phenomenon.

5：Installation instructions

A：Embedded installation (hidden installation,BM3 and BM4 are installed in the same way)

Paste the position paper card to the 
corresponding position on the ceiling.

Remove this area with a blade or hole-cutter.

**Attention obstacle

Connect reserved cable with speaker terminals.

(Red is positive and Black is negative) The installation is complete.

Find the iron hook 5 and screw 6

from accessory bag.

Fix the iron hook on the back of the

speaker with a cross screwdriver or

electric driver; Make sure the lock

is secured.

B：Installation with Rack (open installation,BM3 and BM4 are installed in the same way)

1 Drill hole in the ceiling, insert cap screw

 1 into the hole, and lock the screw 4 to the
 ceiling, make sure it is firm.

***The length of screw 4 depends on

 the distance between the equipment

 and the ceiling.

Rack component：
1，Cap screw M6
2，M6 flat plate *2Pcs
3，M6 hexagon nut*4Pcs
4，M6 screw

2

***These materials are easily purchased
      from hardware stores.

Twist the speaker into the end of the

screw and lock it to make sure it is firm.

Put the iron mesh or guide wave panel

into speaker slot to make sure the

 assembly is in place and there is no

loose phenomenon. 

3

Connect reserved cable with speaker

terminals.

(Red is positive and black is negative)

4

5，Iron piece hook
6，M3 Screw*2Pcs



08 09

BM3&BM4 BM3&BM4


